Sol. 6

LLy(®) +y(®)]=L(0)
=5sY(s)-y(0)+Y(s)=0
= (s+1Y(s)=y(0)=1

=Y(s)= i
=yt)=L" [i} =g

Laplace transform SKfi# ODE
Sol. 7

(1)

{W0+y=ga)

y(0)=0
]
10<t<1
9 {O, otherelse 1

FE) (TE—)
1) 0<t<1 1

{ya>+ya)=1
y(0)=0

Yo () +Y, (1) =0
yc (t) ==Y (t)
Y. (t) =c-e"

Yo +y, ) =1
y,(t)=1
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Yoo (1) = C-€7 +1 y(t)
y(0)=c+1=0 A
c=-1

ytotal (t) = _eit +1
2) t>1 |

y(t)+ y(t) =0 |
y)=-e"+1

y{t)=c-e’

yQ) =c-et=-e"+1
a1

co ee_1+l:e_1

y(t)=(e-1e"

E

yO) +yt)=(e")+(-e"+1)=1
y(0)=-1+1=0

(1)

. et-1 ., —-et+1 _
y(t)+ y(t) = = et + = et=0

(2) .
- +1

——et=—"+1
e

y@) =

(2)

G(5) =5, G, =5, 6=

©)
TA(Z)
LI+ y(0] = LIg(0)]

1-¢e7°
S

sY(s)—y(0)+Y (s) =G(s) = T g(t)-edt = .lfl- e *'dt + TO e tdt =
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1-e 1 7
s(s+1) s(s+1) s(s+1)

1 1 e’ e

BTN STy
O<t<l=yt)=(1-e")-(0-0)=1-¢"
t>1=yt)=(01-e")-(1-e"P)=—e"+e.e' =(e-1e™

=Y(s)=

-

J775(=)

Y (s)=F(s)G(s)
y(t)=f(t)*g(t)
sY(S)-y(0)+Y(s)=G(s) =

SO} FEIGEFO) =)

()= s+1 -

f(t)=e"

o [Losts
9= 0, otherelse

0,t<0
fxrg={ 1-e',0<t<l

(e-1e ' 1<t<oo
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